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QUESTION PAPER SPECIFIC INSTRUCTIONS

w;ilrr 1Tq*fr ffiq 3T{tvT

Please read each of the following instructions carefully before attempting questions.
Ttr{ eA n Xd FTErfufuR fd{it +1 5r<r qrqqrruq" q.e 

I

1" This question paper contains totai EIGHT questions.
{s y{;ilrd ti 5o 3T16 s[{ t I

Attempt only FIVE questions. Candidates are required to attempt atleast one
question from each of the section in addition to question Nos. 4 and 5 which
are compulsory.
#q-d qia q{=it t ssr dfrq 1 31rq[frii *1 sTFs{ qfi {i@r 4 3t{ s * e{flrqr rd-fi
qo-s t 6-q * q-q gfr yq=T 6m o-r+r t r

Question Nos. 1, 2 & 3 from section 'I' and question Nos. G, z & 8 from
Section 'II' may be answered either in Sanskrit or in the medium of
examination opted by candidate.
su-s-I ii * sw ricqr r, 2 *r 3 dQ{T rqu-s-Il ii t qvq rirqr o, 7 srh s * BT{ qr
nl qiT_d tf qr s"ft-{fll ERr Ei :q .rfrar * qqq if kj qr e-o,} t r

Each question carries equal marks. Marks are divided and indicated against
each part of the question. Write answer in legible handwriting. Each part of
the question must be answered in sequence and in the same continuation.
!r&s vw * rrqn 3iq. t r sq-{ * ei6-i q} frrilfq-d E-{ q{=T * r+fi qrJT * qrqi
vFro r*q rrqT t I sfl{ eqq fld€il-{a it tdM I Tq=t d' q-&qt qFr q-r sfl{ TS tr T fr
Rqr qFT erFq r

Attempts of questions shall be counted in sequential order. Uniess struck off,
attempt of a question shall be counted even if attempted partiy. Any page
or portitln of the page left blank in answer book must be clearly struck off
!-{=ii + B-f,Ti q-l rTunT s-qERTT 6i qR'fi r qR qr-a rfr t, d Erq * st-i ql rrryT Efi
{rqfr aB qo.Tfl{ eivn: fiqr r-qT d r srr-gfmor ii sidT {sr gen ysd qT B€-s 3iet
eiJ w6z F-q t srar qrfl erftq r

Re-evaiuation/Re-checking of answer book is not allowed.
B-f,i-gfm-n + g+{evi"-+/gr: siu m1 er5qfd rfr t r
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SECTION-I/ Tg-I

1. @) Expiain critically the statement'EFg{: rf(f,Il6ci' with illustration. 10

'EFgi. qEf,rfd-dq' {qftn: *-<TFwi vfrp-6q1

(b) Write an essav on '4-qrqfr613;qTq;6-frsfr q ffi't

'4r-qqd1qil-qrrrErisfr q ffi'-qffire q-*1 f{qiln friqaqt

2. Describe the justification of name 'Sundarakanda' of Valmiki Ramayana.20

erg1fu' uqrqurqiq-*-oq 'gqq+.;trg1' Ffls ilqlFq-di .rfrqq-oqt

10

3. Describe the dramatic significance of Ratnavali.

{dTqrfr-rTfl-f,rqT qra*RTEi vfuqrsf,H I

4. Write short notes in Sanskrit on the following :

{goqniqq el*fuffi: rifqq M lcqrnq :

(t) iTwf{ftnfr

(ii) qc=nqq 
I

SECTION-IIACIUg-II

5. Explain in Sanskrit any two of the following verses :

(s) ffi qr$ q-ffi iqiil 3rT5qAff(l

n-grqcls-qn-&fr ftrg-aM qrdR{ql qeilfr it

(u) e]-6Rl TINKTRIT: ls{E{: wqfuilr: I

3r-qit@ dliqq| 9qfo6111

20

2xI0=20

2xI0=20
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t (.r) frn: qnd Rdq qEqfdRRR: fqrfrq-r

q-SqTilE-qlr-q-Fqe-igTfr q-dfrqi

erissi .Ts_nd rK€qrTdT mrqrqqqr

ffi-m-yqni q-qfr fqfrqm: rrilg@: l

(q) fiAi*q {iqtdi ffi6qqiss11

qqqsnrl-d-s5T{i ffiq qffi{rr

6. Transiate into Hindi or English any two of the following verses : 2x10=20

eftrrd+g qfu qdtis-{ A*; HrqTqTqi 3TqqT eTrs..rerrTwtqr1 qEetd fr?iqmq :

(q') errnq R=WtifTi qerf.T fq-dqr&nTrql

qrrfr fqffiTurl q-qA T$fTrT{ir

(u) iqkriqgrqT Ts1-rf,: yr{ffiq-{{frqo-gd: Et: tl

x$-a@eTqri qEnTffi:rl

(rT) l-dq-$Rq ffi ird fifir id{Eqffi sj-Edfudr 
I

ffiq@;1
7. Explain with reference to the context any two of the following : 2x70=20

qelrdt5 Hdrls-( fd, sqqrq-<rffrW-*. qrcqr lqrq-+r{ :

(m) e+rgse e'r€ia+5 gemfo_.e'q fti
q-d, :jui {gqftiltr .fr.dn iuorg r

qrd ffi-A ,rqfr q+d qeq dAFri-dT

rffisilrfqrcsi gva) arrlSsqrr
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(u) qEl qeTr +i qrrdr ffi nqr ae{ ffie q-q-clqffiq od *qogdfr r (

(rr) q-{Fqqqrfr qn:qr g{Tqliql q.erqfu ffiq ffiar: fu6qi; T{Ffi {TsT{:,

rrqfMtr€r{d'is q6fr 
1

(q) Ecfdt: qq fr'sT 5fr atr@: r

8. @) Analyse the following statement with reference : 10

ersifufun-+q *RrafFT qR<{ eqlqT fr*qflT :

@g:urfr :v6tfrtt

(b) Explain with reference to the context of the following verse : 10

3TerRFRq v€_sg<{ftitnrdei qrcqT t*q-ar{ :

ffi ,firtn qEr-fi{ga: a-ffi dT qfl-s?dfr qr1

gfrse TdcT ffi g:wereqFfti 6-ffi 11

oR/sTsrqT

ET ET frrq! q-tlEqT€Wri ?T-(-

tEar: s{Tfu-dq(HtsqTt: I

qd-nq gq{fr i-+gffiqffi-

ETd-d ffiq s*o: Tgtr{ ll
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